## The n<sup>th</sup> term Formula of the Triangular Sequence



Now, substitute this value of *a* in equation (4)

$$3a + b = 2$$
  

$$3 \times \frac{1}{2} + b = 2$$
  

$$b = \frac{1}{2}$$
 why?  

$$a + b + c = 1$$
 (from 2)

and since

c = 0

Substituting these values in (1):

$$\frac{1}{2}n^2 + \frac{1}{2}n = \frac{1}{2}n(n+1)$$

Now, let us check if this formula works for, say, the 4<sup>th</sup> term:  $\frac{1}{2} \times 4(4+1) = 10$ . Yes it does! Check if the formula works for other terms.